Via Electronic Filing



July 18, 2012

Ms. Patricia Van Gerpen
Executive Director
South Dakota Public Utilities Commission
State of South Dakota
500 East Capitol Avenue
Pierre, SD 57501

RE: Update to Annual Reporting Requirement - Pursuant to 47 CFR Section 54.304

Dear Ms. Van Gerpen:

This letter and the attachments are being filed to update the certification that James Valley Telecommunication ("Company") filed on June 29, 2012 regarding meeting the reporting requirements of 47 C.F.R. §54.304 and other FCC rules (including, but not limited to 47 C.F.R §51.917) and related requirements in the Federal Communications Commission's ("FCC"), November 18, 2011, USF-ICC Reform/Transformation Order ("USF-ICC").

The Company certified in the filing that it is eligible to receive and has elected to receive CAF ICC Support. The Company has already, via NECA, certified its eligibility and election decision to the FCC and USAC, however it submitted a letter and attachments to the South Dakota Public Utilities Commission (SDPUC) in compliance with the FCC Requirements. Last week, NECA revised the filing of the Company's access recovery charge (ARC) data, therefore the Company is filing the updated information with the SDPUC. The updated ARC information becomes effective on July 20, 2012.

Attached is the updated NECA tariff page and copies of the updated certifications regarding CAF that have been filed with the proper authorities and are being submitted to the SDPUC for the Company's file. The Company is also providing *confidential information* that NECA filed on the Company's behalf to the proper agencies. The Company requests confidential treatment of this documentation which has been labeled accordingly. The pages contain proprietary and confidential information of the Company and should be treated as such. The Company considers the information contained in Confidential NECA CAF Updated Filing to be highly proprietary and confidential. Accordingly, pursuant to ARSD 20:10:01:39 (4) and SDCL 37-29-1 (4), the Company requests that Confidential NECA CAF Updated Filing be treated as confidential for as long as the information is held by the Commission.

The Company will provide additional information, if requested, by the SDPUC. If there are any questions or additional information needed regarding this filing, please contact me at (800) 556-6525.

Sincerely,

James Groft, General Manager James Valley Telecommunications

www.jamesvalley.com

Enclosures

Certification of Officer as to the Accuracy of the CAF ICC Data Reported I certify that I am an officer of the reporting carrier; my responsibilities include ensuring the accuracy of the actual data reported; and, to the best of my knowledge, the information reported on this form is accurate. Name of Reporting Carrier James Valley Cooperative Telephone Company Signature of Authorized Officer James Groft Title or position of Authorized Officer Telephone number of Authorized Officer: (605) 397-2323 ext. Study Area Code of Reporting Carrier Jenus Telephone number of Authorized Officer (605) 391-64 Study Area Code of Reporting Carrier Study Area Code of Reporting Carrier Jenus Telephone number of Authorized Officer: (605) 391-2323 ext. Filing Due Date for this form (605) 391-2323 ext. Persons willfully making false statements on this form can be punished by fine or forfeiture under the Communications Act of 1934, 47 U.S.C. §§ 502, 503(b), or fine or

imprisonment under Title 18 of the United States Code, 18 U.S.C. § 1001.

TO BE COMPLETED BY AN OFFICER OF THE REPORTING CARRIER

Certification of Officer for Rate-of-Return Carrier Not Seeking Duplicative Recovery I certify that I am an officer of the reporting carrier and that, to the best of my knowledge, this reporting carrier is not seeking duplicative recovery in the state jurisdiction for any Eligible Recovery subject to the recovery mechanism as per 51.917(d)(vii). Name of Reporting Carrier James Valley Cooperative Telephone Company Signature of authorized officer James Groft Title or position of authorized officer CEO Telephone number of authorized officer: Study Area Code of Reporting Carrier 39 1664 Filing Due Date for this form 06/18/2012 Persons willfully making false statements on this form can be punished by fine or forfeiture under the Communications Act of 1934, 47 U.S.C. §§ 502, 503(b), or fine or imprisonment under Title 18 of the United States Code, 18 U.S.C. § 1001.

TO BE COMPLETED BY AN OFFICER OF THE REPORTING CARRIER

Certification of Officer for Rate-of-Return Carrier Eligibility for CAF/ICC Recovery I certify that I am an officer of the reporting carrier and that, to the best of my knowledge, the reporting carrier on this form certifies that it has complied with Eligible Recovery §51.917(d) and Access Recovery Charge §51.917(e) and is eligible to receive the CAF ICC support requested pursuant to §51.917(f). Name of Reporting Carrier James Valley Cooperative Telephone Company 7/9/12 Signature of authorized officer Date James Groft Printed name of authorized officer Title or position of authorized officer CEO Telephone number of authorized officer: (605) 397-2323 Filing Due Date for this form 391664 06/18/2012 Study Area Code of Reporting Carrier (mm/dd/yyyy) Persons willfully making false statements on this form can be punished by fine or forfeiture under the Communications Act of 1934, 47 U.S.C. §§ 502, 503(b), or fine or imprisonment under Title 18 of the United States Code, 18 U.S.C. § 1001.

ACCESS SERVICE

17. Rates and Charges (Cont'd)

17.8 Access Recovery Charge (Cont'd)

		Study			Monthly Rate		
Company Name	State	Area Number	Exchange	Rate Zone	RES ARC	SLB ARC	MLB ARC
Interior Telephone Company, Inc.	AK	613011	All	All	\$0.00	\$0.50	\$1.00
Interstate 35 Telephone Company Interstate Telecomm. Coop., Inc.	IA	351209	All	All	\$0.50	\$0.50	\$1.00
	MN	361654	All	All	\$0.50	\$0.50	\$1.00
Island Telephone Company	MI	310677	All	All	\$0.50	\$0.50	\$1.00
Island Telephone Company ITS Telecommunications Systems, Inc.	ME	100007	All	All	\$0.50	\$0.50	\$1.00
	FL	210331	All	All	\$0.50	\$0.50	\$1.00
J.B.N. Telephone Company, Inc. James Valley Cooperative Telephone Company	KS	411785	All	All	\$0.50	\$0.50	\$1.00
	SD	391664	All	All	\$0.37 (R)(y)	\$0.37 (R)(y) \$0.75 (R)(y)
Jefferson Telephone Company	SD	391666	All	All	\$0.50	\$0.50	\$1.00
Johnson Telephone Company	MN	361410	All	All	\$0.50	\$0.50	\$1.00
K&M Telephone Company, Inc.	NE	371565	All	All	\$0.50	\$0.50	\$1.00
Kalama Telephone Company	WA	522426	All	All	\$0.50	\$0.50	\$1.00
Kalida Telephone Company, Inc. Kalona Cooperative Telephone Company	OH	300625	All	All	\$0.50	\$0.50	\$1.00
	IA	351214	All	All	\$0.50	\$0.50	\$1.00
Kanokla Telephone Association	KS	411788	All	All	\$0.50	\$0.50	\$1.00
Kanokla Telephone Association	OK	431788	All	All	\$0.50	\$0.50	\$1.00
Kaplan Telephone Company	LA	270432	All	All	\$0.50	\$0.50	\$1.00

Transmittal No. 1350

> Director - Access Tariffs 80 So. Jefferson Road, Whippany, NJ 07981

C) (3r)

⁽x) All material coded with an "S" was originally filed under Transmittal No. 1347 on June 18, 2012 and became effective on July 3, 2012.

⁽y) Filed under authority of Special Permission No. 12-023 of the Federal Communications Commission.